-
J \ﬂj-‘y I‘ (ISO 4032~4036 RU'ISO 8673~8675ICKBRWVNEFWR)IIS B 1181: 2014 K IR

Hexagon Nuts

NEFYIORIR - ik
fE ETREE (M6l L2 : b)

1%& 2% 3%
30, 30, 30, d
of IV & & [} 8 3 18 MY .
é ) b z S z & J
S
.m| m | L lm
B 1 mm
RUOFUY (d) m m s e ddw- pdk
pin =] we BETE HeE BETE HeE BETE HeE # #
M2 = 16 12 4 46 3.8
M2.5 - 2 0 16 0 5 5.8 47
M3 = 2.4 -0.25 18 s 55 0 6.4 5.3
(M3.5) = 2.8 2 : 6 o 6.9 58
M4 = 32 o 24 7 : 8.1 6.8
0
M5 4 ~0.30 3.2 o 8 9.2 7.8
M6 = 5 0 36 10 0 15 9.8
-0.48 0 ~06

M7) = 55 : 42 o8 1 0 127 10.8
M8 M8X1 6.5 0 5 : 13 o7 15 125
M10 M10X1.25 8 oss 6 17 : 196 16.5
M12 MI2%1.25 10 ' 7 0 19 21.9 18
(M14) (M14x15) 11 8 058 2 o 25.4 21
M16 M16X15 13 o 10 : 24 o8 27.7 23
(M18) (M18x15) 15 o7 1 27 : 31.2 26
M20 M20X15 16 : 12 30 346 29
(M22) (M22x1.5) 18 13 0 2 37 31
M24 M24%2 19 14 ~0.70 36 0 416 34
(M27) (M27x2) 22 o 16 41 1o 47.3 39
M30 M30x2 24 osa 18 46 ' 53.1 24
(M33) (M33x2) 26 : 20 50 57.7 48
M36 M36x3 29 21 55 63.5 53
(M39) (M39x3) 31 23 0 60 69.3 57
M42 34 25 -0.84 65 0 75 62
(M45) 36 o 27 70 1.2 80.8 67
M48 38 1o 29 75 86.5 72
(M52) 42 : 31 80 924 77
M56 45 34 0 85 98.1 82
(M60) 48 36 o 90 0 104 87
M64 51 _? 5 38 95 -14 110 92

#Z RUOEVICENEMFIHDE. BBKANGEN,

N\ NBK @E/17y021 0575-23-1162 info@nbk1560.com https://www.nbk1560.com



